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By selling a car for €14 400, a dealer would lose 4% on the purchase price.
(i) What did the dealer pay for the car?
(ii) Find his percentage profit if he had sold the car for €17 250.
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1. Express each of these as a percentage:
@) 025 (i) 034 (i) ;X00 (V) 2xi00 ) % xr00
X0 _Xw06 L. qol s150
Zf/" 34r

2. Express each of these percentages as adecimal: T~ 100
(i) _75% _ 3 (i) 50% (iii) 64% (iv) 6% (v) 2%%
106 5 < 6q *06 9028
.35
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3. Work out each of these:
(i) 15%of75 (ii) 80%0f70 56 (i) 45%of 120 $¢
(iv) 9% of €35¢£3/-§ (v) 26%of €850 £22|  (vi) 29% of 600cm
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4. Find () 23% of 300 (i) 73% of €380 (iii) 120% of €400
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5. Write these as percentages:

(i) 20outof 80 (i) 30 out of 200 (i) 23 outof 10
° 30
25 % /aoo X0 Q.29 y.
20[go x 100 =155 257,
= a8

Hiw P9 06 Q6,,5.
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6. (i) Express 510 marks as a percentage of 600 marks.
(i) Express 50 ml as a percentage of 1 litre.

1) 500 100 = 555
400 557

) 50 o,
W)= X100 = %/
)1000

|
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7. If 35% of a number is 297.5, find the number.

3578~ 2935
. 293§
A T

1009¢ > §§ Xlov = §5O.
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" Ewercise5.3

B. Work cut each of these:
(il 30%of 150
{iv] 32%of 180

35% of 140
Ivii @94 of €BE

li) 80% of 140
ivd Ta% of 200ky

—

cl
9, Increase 12 by S0%
Decrease 75 by 203

ncrease 120 by 12;’!6

{iit Increase 140 by 15%
{iv) Decrease 250 by 3%
ivil Decrease 45 by 5%

—

10 102 sale, the orice of a piece of Turnituene was reduced by 1
If rhe sale price was €1 360, what was the price before the gale?

cost puce =7 1007

Sellw-? Prfd- 10050 - 15 S0 = §57

g50° 1360 Hiw
90 1360 (¢ Py 106

55
1607¢ = 16 x106 = € 1600 Qu+iz

1. Ina sale the marked prices are reduced by 30%,
{i; Calculaze the sale price of s jacket if the marked price is €350,
(i} Fird the marked price of & dress it the sale price is S158.

1) 350 x 3004 = €105
350 -105= €a4s
MP  duhss 37 o _
wo—30= 305 07°7 16%
0= 168
| - =2y

10070 2.4 106 = €240
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" Ewercise5.3

12, The price nf A televizion et 15 &7H0.
If this includes YAT at 205, ind the price before VAT is added.
—_

] .
Tv 4 VAT = salePrice

00/ 4+ 20 = 2gle
120/+* 350

v o 186 _
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10070 = ¢-§ xigo {656
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13, by selling 4 jacke far €416, a store makes a orafil of 306,
ti} Fincl the cost Elrlfﬁ of the jacket.
liil 1 the jackst is reduced by 10% in 2 sale, calculate the percentzge proht the store
rowe liss on the prive, 2 . _
o [y ar Lhe cost pric . . ”) yléxtase =416
P 4 Proftt = Sellumg Price

. 4lé-ul-6=33u4
1667 4+ 3070 = Hlb :
1 Praf-l{‘ 3‘7'4(:’

1307¢= 416 J20-0

j:}s: -1‘;3.2 s4.4 .

I L |. Pwil*‘
063 = 5 ,0060 = €326 7 Prof1 by
54-4

Hiw g 103 26 X'%%= 12k
Q16 13-
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14, An estale aguent charges B.75% fees an the sale wrice o g hoose,
(it Find hiz fees if a heuse s snld for SA50000 and VAT & 2% on s faes is added on.
lii) Find the selling orice of a house it the fees are £2775 betore VAT is added.

450,000 X 357+ = €3335 fees
VAT on Hu fees = 333§ x20/0= 675

Aokal Fees = 3315 + 635 =(4050

3ste: AT
fe: 2335 3300
35
I0050;3;°o xigg = 330000
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15, (et a five-year peringd the papulativa af a treen ineieased fram a5 G0N o 305 000,
What percentage incrense is this, correct to the nearest whole nurmber?

|nerease 205000

- luroob
60,000
% mmasé I tre il 60006 X100
Tt omgumt Ius,00
on whith Ma = ¢ 30
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16. When an item is sold for €176, the profit is 10% on the cost price. When the selling
price is increased to €192, calculate the percentage profit on the cost price.

17. A greengrocer buys 30 boxes of strawberries at €5.25 each and sells 28 of them at a profit
of 30%. If the remaining two boxes are unsaleable, find his percentage profit on the deal.

Exercise

18. By selling a laptop for €1150 a store makes a profit of 25%.
At what price should the laptop be sold to make a profit of 20%?

19. (i) Express % of 0.96 as a percentage of 5.12.

(ii) 2%% of the weight of sea water is made up of salt.
What weight of sea water would be required to yield 100 kg of salt?




20. Aboat salesman receives a commission on the price at which he sells a boat.
The commission is calculated at the rate of 5% of the first €10 000 of the sale price of
the boat plus 3% of the remainder.
(i) Calculate his commission on a boat which he sells for €20 000.
(i) Find the sale price of a boat on which he gets a commission of €740.

Exercise

21. %of the girls in a school are over the age of 16.
The school has 675 pupils of whom 56% are girls.
How many girls in the school are over 16 years?

560 x 635 ¢ Eurls 378

_Ez, X 331§> 84 w]l over 16,

Exercise

22. The price of a games console is €484 which includes VAT at 21%.
Store A offers a discount of 22%% on the selling price.
Store B says that it will not charge VAT.
In which store is the selling price the cheaper and by how much?

23. Apetrol-engined car costs €28 600 and a diesel-engined model of the same car costs
€31500.
Information on the running costs of the two cars is given in the table below:

Cost of fuel per litre No. of km/litre
‘ Petrol car €145 7
| Diesel car €136 9

If each car depreciates by 20% in the first year, calculate the difference in running costs
(including depreciation) for the first year during which both cars travelled 18 900 km.




- <1 (i) 25% (ii) 34% (i) 25%

(iv) 40% v) 15%
2. ()075 (i) 05 (iii) 0.64
(iv) 0.06 (v) 0025
3. () 1125 (i) 56 (iii) 54
(iv) €31.50  (v) €221 (vi) 174cm
4. )75 (i) €2850  (iii) €480
5. () 25% (i) 15% (iii) 25%
6. (i) 85% (i) 5%
7. 850
8. ()45 (i) 112 (iii) 49
(iv) 57.6 (v) 32kg (vi) €60.72
9. ()18 (i) 161 (iii) 60
(iv) 2425 v 135 (vi) 42.75
10. €1600
1. () €245 (i) €240
12. €650
13. () €320 (i) 17%
14. () €4050 (i) €370000
15, 41% 16. 20%
17. 215% 18. €1104
19. () 125% (i) 4000kg
20. (i) €800 (i) €18000
21. 84
22. Store B by €23.50
23. €479
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